LITERACY RESOURCES:

]

’ A dangerous place

' Everest, in the high Himalayas, stands

 tall and firm, a giant unmoved by wind

' or snow, the air too thin for plant or
animal life. Climbing Mount Everest

is hard and dangerous work. Even
with the aid of modern technology, the
fittest of climbers may experience the
effects of hypoxia. Then their dreams
of reaching the summit of the highest
mountain in the world are over.

Cerebral hypoxia is caused by lack
of oxygen to the brain. People with
cerebral hypoxia show signs of
|impaired judgement; they become
confused and as their condition
- worsens they do not know where they
' are or what they are doing. People
' who recover from this type of hypoxia
remember going into a trance-like
state in which events and objects were
magnified out of proportion. But many
do not recover. In 1996 eight people

died in a single day on Everest.

Research is underway to find out more
about the effects of altitude on the
human body. Scientists are interested
to understand why people’s abilities
in mountain conditions vary sO much.
Some climbers on Everest can trudge

eavy snow and climb cliffs
ty for hours

oughh
at their maximum capaci

thers struggle to breathe in the thin

ir: some collapse and are unable to
on. These scientists know that

e larger the lungs, the more OXygen
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' Everest

ithout even the assistance of oxygen.

g Comprehension, Year 6

the lungs can absorb. This oxygen

is in turn picked up by the blood
and delivered to the muscle tissues.

Perhaps this is an important clue to
people’s varying abilities.

Adjusting your body to the thin air,
allowing it to get used to lower levels

of oxygen, is vital if a climber wants

to tackle Mount Everest. On early
expeditions to Mount Everest, climbers

trekked for weeks to get to Base Camp,
which gave people’s bodies time to
adjust. Today, climbers are flown into
Lukla, a Sherpa village from where it
takes just ten days to reach Base Camp.
This shortens the amount of time a
climber has to acclimatise to the thin

air.
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The climb

Once at Everest Base Camp,

there follows a period of further
acclimatisation. Base Camp is situated
on a glacier that constantly shifts

and moves beneath your feet. It is

an inhospitable place filled with the
brightly coloured tents of climbers who
are anxious to make it to the top.

The climb to Mount Everest’s summit
begins with a traverse of the Khumbu
Icefall. This is a steep glacier filled
with deep crevasses and huge ice
blocks. It should be climbed in the
early morning when the sun has not
yet warmed the snow and ice. A mass
of fixed ropes and ladders cross the
crevasses to enable climbers to get
across the glacier; without them,
no climber would make it through.
It is a dangerous start to the climb,
for the icefall is unpredictable. The
giant blocks of ice which dominate
the area can weigh up to thirty tons
each. These blocks can shift without
warning; and crevasses can cave in,
taking climbers with them. Later
in the day the icefall becomes even
more unpredictable and unstable; to
. cross it then would be foolhardy in

the extreme.
Climbing higher, one faces further
risks, such as acute mountain sickness.
The early signs of this are a headache
followed by dizziness, trouble sleeping
and nausea. A person may lose their -
appetite and be reluctant to drink.
As the sickness develops, the nausea
continues, and sufferers begin to

i

i

A—

have problems with their balance and
coordination. Should these symptoms
appear, it is important that the climber
seeks immediate medical advice and
goes back down the mountain for a
while to a place where lower altitude

will allow the body a chance to recover
and adjust.

Climbers say that in acute mountain
sickness, the shortage of breath

and lack of sleep are the two most
troublesome things. The sickness can
attack very quickly. One minute you
feel strong and well and the next you
are stricken with a severe headache.

It takes time for the body to adapt, but
eventually climbers make it up to the
high camps and then prepare for their
attempt on the summit. At 26,000 feet
they face the Death Zone; this is aptly
named because here the body uses up
its store of oxygen faster than it can
be replenished. Sleeping becomes a
problem. The muscles begin to waste
away and a climber’s weight decreases.
The body becomes weaker and weaker,
so much so that their time above 26,000
feet is severely limited. An extended
stay in the Death Zone without extra

oxygen will end in death.

Those climbers who reach the
summit of Mount Everest achieve a
great dream, but not without a price.
They will have pushed their bodies to
the utmost and suffered discomforts
most of us can not imagine. They
have, however, reached the Top of the
World and that is an experience most
of us will only ever read about.
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Questions Word worl %

Answer the following questions with a 1. Give the meaning of the following

y full sentence:

words:
1. In which mountain range is Mount crevasse
Everest? traverse
2. What causes ia? glacier
fiypoxta: maximum
3. What symptoms does a person with decrease

" cerebral hypoxia show?

4. Why might climbers with large lungs
be at an advantage?

5. Why is the Khumbu Icefall so
hazardous?

2. If your judgement is impaired’, what '?:—:;_
does that mean? E
3. Ifaplaceis considered inhospitable’, =

what does that mean?
6. What helps climbers to cross the

crevasses in the icefall?
7. Where is the Death Zone located?

8. Why is the Death Zone given that
name?

4. What does it mean to be
‘acclimatised’?
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Extension work

1. From what you have read, do you think climbing Mount Everest sounds appealing?
Give reasons for your answer.

2. From what you have read, do you think it would have been better to have joined one of
 the old expeditions or a modern one? Give reasons for your response.

}. Given that there are significant dangers to climbing at high altitude, what do you think
attracts people to high mountains?

' L. Why would a shortage of breath and a lack of sleep be a problem on Mount Everest?

i We are told that climbers who reach the summit achieve a ‘great dream, but not without

a price,’ explain what you think is meant by this expression and what the price’ could
be?

e _ Which two phrases best describe how dangerous Everest is?

. How do you think the research that has been gathered will benefit climbers in the
future?




EVEREST - Comprehension

1. Mount Everest is in the

mountain range.

2. Hypoxia is caused by

3. A person with cerebral hypoxia shows the following
symptoms:

4. Climbers with large lungs might be at an advantage

because




5. Khumbu Icefall is so hazardous because

6. Climbers are helped to cross the crevasses in the

icefall by

7. The Death Zone is located

8. The Death Zone is given that name because




Text Type: Newspaper Report RH VERSION
Purpose: To inform and fo entertain

Text Written in the past tense: (said, was, told, saw etc)
Features: Written in the third person: (he, she, they, his, her)
Openers: To signal time and sequence: Yesterday.., It started..., At

first.., Soon...,, Then..., Next..., Later..., Eventually..., At last...,
Finally...,

For dramatic effect: Fortunately..., Unfortunately...,
Unbelievably..., Remarkably , Luckily..., Happily..., Sadly...,
Tragically..., Suddenly..., Despite..., Eventually...,

Connectives:

Cause and effect: so, so that, because, therefore, since,
consequently

Contrast and comparison: but, however, although, despite,
nevertheless

Vocabulary:

article, reporter, photographer, eye-witness, by-stander, on-
looker, innocent, guilty, victim, brave, hero, commented, incident,
accident, injured, dangerous, tragedy, spectacular, escaped,
police, ambulance, fire brigade

Detailed descriptions.

Photograph.
Caption underneath photograph.

Varied sentence structure.

WHO?

WHAT? WHEN? WHERE? WHY?

HOW?

Headline: The main idea - short, catchy, not necessarily a sentence, might
include word play, puns/double meaning/homonyms, alliteration, rhyme.




1. Lead paragraph/The Orientation: The main facts, the report in brief. Must
include: who, what, where, when? Sets the scene and summarises the main
points of the article - may only be one sentence.

2. Main paragraph: More details of who, where, when, why, how: (names and ages
of those involved, actual times, place names etc).

3. Main paragraph: More details including reactions. Comments and quotes by
witnesses or the people involved about the events.

4. Reorientation: Summarise what has happened. Consider what might happen in
the future. Aim to link the end back to the start.
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Manor News

BLIZZARD CAUSES CHAOS!

Blizzard causes...Chaos?
A vast, thick, white blanket has coated the majority
ofthe West of Britain last night. Many people have
awoken to complete chaos as blizzard conditions hit
the UK overnight. Even though the Met oftice had
forecast these conditions, nothing could have
prepared the nation for the sight which met them this
morning.
All over the West Country, Police have been
dealing with a flurry of accidents caused by the
snow. Surprisingly, there were many people who He stated that the snow was so deep in places that
decided to take the risk of driving in those perilous the snow mobiles at certain points were actually
conditions. As a result, one family, in Stroud, found higher than the cars which they were digging out!
two vehicles had veered ofY the n‘)ad and into their Vehicles aren’t the only sufferers of this flufty,
garden.” We heard this almighty crash and my white, picture postcard delight: many houses are
husband was outside at that point checking for now without power: schools have been forced to
damage. He had to help the driver out of the back close due to lack of fuel (and stafl): major retail
passenger door,” explained Mrs Smith. Therefore, chains have run out of supplies: and animals have
the Highways Agency have warned drivers to avoid become encased in the drifts.
unnecessary travel, check forecasts and allow extra However, apparently some people have
time for journeys. Steve Crosthwaite, Head of the welcomed the ensuing chaos and are making the
Agency's National Traffic Operations Centre, most of it. Blanche Neige - a student at Bristol
suggested: "During periods of severe weather, we Primary‘ SChOOl‘-\ en}hu\sed. “We don't ha?’c 10 go to
suggest people consider whether their journey is sc‘hool for a while. It’s fantastic, lo‘ok at th\‘s huge
essential. They may want to delay travel until wintry pla?rgmund. 1 get to play Wlll‘\ 1‘\Il of me ‘
conditions have improved.” mates: W!}lch mean that we m‘e‘ receiving lots of
In addition, many people were forced to abandon exercise, ‘She‘was greatly excited and added, “‘lt‘s
their vehicles and on the A595 this morning, the well fun!™ So it seems that every cloud has a silver
rooftops of the cars were just about visible under a lining. {\t [ﬂm ff)f some! :
mountain of snow. Stranded in the late hours last Continuing winds and further snow expected
night, 74 people were rescued by helicopter and fhr(’)ugh?ut the next few days means that the chaos
some had been stuck for up to 8 hours. Paul Calland isn’t going to end soon. Consequently, “‘lﬁk‘t“ sure
from the Cumbrian Bay Search and Rescue team that you are prepared and only venture out if it is
said that he and his team had to dig down to some of really necessary! -
the cars to get people out. eport by B.Lizzard
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Lear‘\ing.back against the snow, | listened to a furious
hammering in my temple as | fried fo calm my breathing.
Snow hissed over me in a forrent. | ignored it as it poured
over my face qndtchgst, qurﬁng into the open zip at my
neck, and on down below. It kept coming. Washing across

g me and down dfter the cut rope, and after Joe
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When at last | sat up, the dlack rope fell from: my:q;s.

One frayed end protruded from the belay plate = h:t a
 gone. Had | killed him2 — | didn't cfmswer.lhe ::oug 7

h some urging in the back of my m!"
b felt numl’rf Frgezing cold, and shockgd info @ “ﬂ‘:mb
silence, | stared bleakly into the swirling snow beneath me
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" heard. | could be sure of that. | shivered in the wind as
e cold crept up my back. Another avalanche swept ?ver
« in the darkness. Alone on a storm-swep! avalanching

mountain face, and becoming dangerously cold, | Wfis left
with no chaice but to forget about Joe until the morning.
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But unknown to him, J N a. had 1.1appened to Joe.
badly hurt, he , Joe was still alive. Although
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- dragged hims 4 co;-d river beds, to safety. He finally
Bk i imself back to the camp, crying out in th
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Touching the Void

1. In the first paragraph, ‘Touching the Void' is written

This is because

2. The expression ‘my grip on the rope kept easing
despite my best efforts’ means

3. When it says 'the thought overwhelmed me’, I would
be feeling

4. A synonym for ‘halted’ is

5. If 'panic threatened to swamp me’, this means

6. A'mitt is

7. I think that the metal blade stuck to his lips when he
opened it with his teeth’ because

8. 'Protruded' means

9. 'Stifled’ means




10. I think that Simon was/was not right to do what
he did to Joe because

11, Initially, I think that Joe would have felt
because

Later, after he returned to safety and the camp, I
think that he would have felt

because

12. A 'void' is

13. In my opinion, the book’s title is







S T S ~rvals across zero.
S | bers and calculate intervals acr

TARGET To use e negative numbers and ‘“ﬁ“"“w i

Find the tem

Answer 4°C,

Perature which is 10°C more than —6°C.




temperature and

pumbers

s 0°C = 8°C
0°C 7°C = 7°C
_§hC  7°C = (B 4 7°C = 15




bers using written methods.
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s and decimals.







R
Add whole numbers with more than a ° Complete the column additions.

4 digits (column method)

74|35 7/ 43 5
+ 2 4|5 6 + 2 4|86 6
° Complete the calculations. ...__ 4(3ls 7435

L H T L]
ooe Ooeo |+[3]2]1]3] L1 | _
mm What d tice about each addition?

(o] Eﬂ_.._ notice al Ut eoc Ithan ¢

What stoys the same? What changes?
+©©000 00
-] (")

° Complete the additions. Use the place value chart to help you.

000000000
e OO“O

b)

=
I
-

bt | B
OIIM
|
NIU‘

Q0 7 . a) 23,245 + 14,323 =

b) 23,245 + 14,328 =

00
ea €) 23,245 + 14,846 =

d) + 23,245 = 35,490

000000
C0| 000
O

@ Whits R Moths 2008




o Use the column method to work out the additions. o Complete the additions.

a) £36,000 + £19,420 ¢) 843 cm + 15611 em a) b)
] : | |a 1 4 g
+ 2| l&| |a + 2] |&a] |a
gla a2 8 8 9|9 2|6
b) 40,720 g + 6,872 g d) £17,320 + £6,009 + £34,871 € complete the additions.
| a) 735 + = 1,000
b) 1.026 + = 10,000

€) + 872 = 10,000

o The table shows the number of home and away fans attending
three football matches.

Match Home fans Away fans
1 53,640 12,930
2 42,630 18,340
3 35,480 32,490

Which match hod the greotest total attendance?

@) M Holl has written these additions on the board.

324,846 + 12,475 17,654 + 2,935

Dexter's workings Eva's workings
32484060 17 65 4
+ 12 475 + 29 365
336211 4 7 00 4
Exploin the mistakes that Dexter and Eva hove made, @



White

Subtract whole numbers with more than a o T 1 | d) |

4 digits (column method) 'a 6|8 34 5(2/0

et
1
%]

(1] Th H T
©
o
©

€ ~ fomily has £22,658 in the bank.
They spend £3,600 on a holiday.
How much money do they have left?

Complete the subtractions.

a) | 4]
70315 |7[3|1]5
-(211 04 - 5420
b)
7(3|1|5 . .
It is 10,553 miles from London to Sydney.
-13]z2]a]1 ° yaney
It is 9,929 miles from New York to Sydney.
How much further away is Sydney from London than from

New York?

° Complete the caleulations, O

a) | b}

miles

© White Rose Matha 2019



° Complete the models. ¢) 15923-9,998 =

% b) 123,000
63,826 o ———

12,365 a.o_u_ How did you work this out? @

Is there another method you could use?

e Teddy and Jack are playing a computer game.
Teddy scores 55,890 points.
Jack scores 36,475 points fewer than Teddy.

a) How many points does Jack score?

° Mr Hall has written these subtractions on the board.

45541 - 25 865 68,945 - 34,758
Rosie’s workings Whitney's workings b) How many points do they have altogether?
258¢65 68945
— &4 '5:85'4' } - 34758
2 0/3:2°4 34 %138
° Here are some digit cards. Ov
Explain the mistakes that Rosie and Whitney have made. 1 5 8 9

: Ron makes a 4-digit number with the cards.
° Complete the subtractions.

O

Eva makes a 4-digit number with the cards.
a) 10,004 - 9,995 = The difference between their numbers is between 1,000 and 3,000

What numbers could Ron and Eva have made?

b) 10,000 - 6,727 =

© White Ross Muths 2019




Inverse operations (addition and subtraction) / o Use an inverse operation to check these calculations.

a)

Lad | D Lad
Lad | =d | O
W w o

° Ren wants to check this addition caleulation. b)

1
e o
el
(S O =
k|3 B

320 + 719 = 1,039

Circle the subtractions that con be used to check Ron's addition.

1039 - 119 320 - 1,039
° Tommy works out 12,350 + 7,903 incorrectly.

719 - 320 1,039 - 320

12350

+ 7 90 3
91380
o Dora wants to check this subtraction calculation.
4,096 - 2,356 = 1740 Tommy checks his colculation using the some addition.
Is this o good idea? Talk about it with o partner. @

4] leulati hould ki ? T f .
Circle the oddition that con be used to check Dora's subtraction. Wit caltulnion shoutel ha do7 Comars TRmmys Shane

4,096 + 2,356 4,096 + 1,740

I

1,740 + 2,356 1.740 + 4,096

@ Whits Rass Maths 119



° Match the inverse calculations.

| 2482+ 6428=8912 | | 5271+ 42129483 |
[ s984-3,172-2812 | | 8912-6,428 = 2,482 |
| o.483-5271=a212 | | 8.912-5271 =360 |
[ 8912= 360145271 | | 5984=3172+2812 |

o Complete the calculations,
Use inverse operations to check your answers.

a) 763 + 4,072 =

b) 8,711 -1,053 =

¢ 2,351 + 14,706 =

e Alex thinks of a number.

vz

Whaot number did Alex start with?

When [ add
4,550 to my number
I get 7,460

° Here is o bar model.

8,451

Think of two different ways that you con find the missing part. @
What is the missing part?




Multi-step addition and
subtraction problems

° Eva is reading a book before bedtime.
On Monday she reads 38 pages.
On Tuesday she reads 6 pages more than she did on Monday.

a) How many pages does she read on Tuesday?

b) How many pages does she read altogether on Monday
and Tuesday?

¢) There are 123 poges in the book altogether.
How maony pages does Eva have left to read?

° Here are two number cards.

800 ?

The sum of the two cards is 2,900

What is the difference between the two cords?

o Mo has £1,000 to spend. He buys a TV and o games console.

Does Mo have enough money left to buy the phone?

Show your workings.

° Two fomilies each have £1,800
The table shows how much they need to spend.

The Websters The Changs
Housing £465 £550
Food £420 £380
Bills £120 £135

Which family hos the most money left?

How much more money do they have?

0 Whita Rosa Matkd 2019




o There are 15,600 people at a concert. ° Two numbers have a difference of 1,200 and a total of 6,484

There are 9,050 adults. What are the two numbers? _
The rest are children.

How many more adults than children are there?

° Jack, Whitney and Amir are counting their sticker collections. nd
a

I have twice
as many stickers
as Whitney.

° Three 4-digit numbers add together to make 10,000 m
One of the numbers is 2,560

Complete the sentences to describe the other numbers.

I have 100
stickers fewer than
Whitney.

E The total of the two numbers must be
They have 900 stickers altogether.

How many stickers do they each have? C The two numbers could be and

One of the numbers cannot be greater than

Write your own problem like this for o partner to solve.

Jack has stickers.

Amir has stickers.

Whitney has stickers.

© White Rose Matha 2019




Multiply 4-digits by 1-digit © 4 football stadium holds 2.214 people.
| The stadium is full for 4 matches in a row.
What was the attendance for all 4 matches?

H T

° Complete the sentences to describe the multiplication.

Th
©0(000
|

;= 00000
0 00 0 |000

o0 00 |0 000 ©0/000
©® 00 |© |000 20000 |00

|00 OOI
P
r
-
™

There are ones altogether. _
The attendance for all 4 matches wos
There are tens altogether.
° Mijah is calculating 2,430 = 3
There are hundreds oltogether. She makes this place value chart to help her.
There are thousands altogether. Th H T
2213x3= 90_ o

©0

000
Q0O

2|7\0)|2 She gets the answer 729
u 4 What mistake haos Nijoh mode?

° Complete the multiplicotion.
Use the place value chart to help you,

0 B

&

What is the correct answer?

@ Whits Rioss Ml tha, 1019



_° Complete the multiplications. ° 248 x 10 = 2,480 @

a) 3,126 x 3= ) 4132 x 6 =
Without using the formal method, how could you use this fact to
T T T T T T T 1171 calculate 248 = 97
b) 4,812 x 2 = d) 1,502 % 5 = Chedk your answer using the formal method.

©

Which method was easier?

o Ron is working out 7,423 = 0

O

7 4 2 3 _e Use each digit cord ance to write o multiplicotion.

0
7 4 2 3 The answer 1 2 3 4 5 !
is 7,423 @
L

Do you ogree with Ron?

]

Did Ron have to use a column method? Is there a quicker waoy? @
Heow many different preducts can you find?
° Wark out these multiplications. Y P 4
2846 % 2 =
2,846 x 4 =
Whaot is the closest product to 8,0007
2,846 % 8 =

What do you notice about the onswers? @




?a_.__._..__u_C Nnn_m_mm.nm Aﬂﬁmﬂ _.__._Uau_m_u o Amir is using base 10 to colculote 31 = 24 u

a) Add the missing information to the area model and complete

the sentences. D

|

° Kim is using base 10 to work out 31 = 22

Use Kim's model to help you complete the sentences.

20 2

] 0
L]

@ (TTTTTTTTTY PTTTTTTTTY (TTTTTTTTTY (X%
& COTTTTITTTY (TTTIrTeTy (TTTTTrTTTy |
§ O Oy Oy (@

30
There are ones altogether.
There are tens altogether.
L There are _H_ hundreds oltogether.
There are ones altogether, b) Describe any exchanges you need to make.
There are D tens altogether.
There are D hundreds altogether, S
¢) Complete the multiplication.

Nx22= N:MFD

o ° Use base 10 to work out these multiplicotions. Q
° Use base 10 to work out the multiplications. b,

n.ﬁ?;._H_ suiw.D n:m:m.D _UZT_N._H_

© White Rose Matha 2019




° Use the ploce value counters to complete the multiplicotion grid ° 24 = = 768
and sentence.

x| 00|000000 || = .
O|@0000000| |4,
O|©0/000000
000000000 |-
000000000
000000000

Complete the area model to find the missing number.

KO

§ 8§ 8 Ty Ty | %

26x32=
° Use an area model to help you complete the multiplication. &
a) 28x14= ) I/Hx2=
x 20 8 ) )
e Use each digit card once to write a multiplication.
10
2(|3||af|s Q
4 ./r\_
b) 27 x 16 = d) 45 x 36 = ) N
. How many different answers can you find?
How many products are there between 1,000 and 1,5007 @

° Complete the multiplications.

N x2d= M x25=

18x26=
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Multiply 2-digits by 2-digits | . © i in the missing numbers.

a) [}
[ 4|3
® 1|3 x
1129 (43 x 3) 1|05 (21 = 5)
4 3|0 (43 = 10) 4|20 (21 = 20)
e Complete the multiplications. _
a) 6xb= d) 7=x9= b)
b x60= 7 =90= I 3 | 1
» 116
1.1 2| 86 { % )
b) 12x8= e) 21 xd= 511 1a
( ® )
12 x 80 = 21 x40 =
3 4
o) 32xi= ahmxwuﬂ_ o Mo is caleulating 34 = 23 % 2 3
Here is his werking. ! nm___ m
32x30= 48 x 30 = 3
7.0
What mistake has Mo mode?
How did you work out your onswers? @ !
What is the correct answer?

<ocauccﬂﬁ3n1_n:ruw_n _
for your workings. 7
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_o Work out the multiplications. ° Here are two rectangles. m m

16m
26m

a) What is the area of this compound shape?

waxs-[ | ewo-[ ] E
! b) What is the area of the shaded part?

_° A machine prints 52 labels every minute. _H_

How many labels will it print in three-quarters of an hour?

Compare methods and answers with a portner. 0
What is the same ond whaot is different? =

]



ZmQDn?m numbers / B - ° Complete the sentences. Use the number lines to help you.

a) 5 more than -3 is

| | | | | | | | ! | | |
| I I | ! I I

L
I
@ complete the number line. 5 K A4 FD A0 1T 2T A S G

—
—
-

-1
=
-

—_—
—

—
-
-
L

b) 4 less than 1is

| | | | | |
| 1 I I | I

1
I
° The table shows the temperatures in four cities in the world. -6 -5 4 -3 -2 -1 0 1 2 3: 4 5 6

e
—
-
-
o~

¢) 4 more than -4 is

-5°C 7°C -8°C 16°C
| | | | | | L | | l | | |
I I 1 I I 1 I I 1 I I | 1
a) How many degrees colder is it in Barcelona than Sydney? -6 -5 4 -3 -2 -1 0 1 2 X 4 5 &

b) How many degrees warmer is it in Leeds than Chicago? d) 3lessthon-1is

| l | | | |
| 1 I I | |

¢) How many degrees colder is it in Leeds than Sydney? “
-6 -5 4 -3 -2 -1 0 1 2 3 4 5 6

e
—
o
B
-
—

d) What is the difference between the temperature
in Barcelona and Chicago?

e) The temperature in Leeds increases by 4°C. ° A ship sits in the sea.
What is the new temperature? The base of the ship is 5 m below sea level.
The top of the ship is 11 m above sea level,

f) The temperature in Chicago decreases by 3°C. How tall is the ship?
What Is the new temperature?
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o Complete the number sentences. ° Dexter and Eva are playing a game.

a) 3+5= e) 3-5= They each choose 2 cards and add up their total points.
The winner is the person with the highest total.
b) 1-4= f) -1-4=
we) [-12]| 7
=4 4+ 4= = -4 =
Q) -4+ g) ~ -9 |12
d) -1-3= h) -1+3=

Who has won the game and by how many points?

° Complete the number lines.

a)

1 | | | | | | | | | | ° Work out the values of A ond B.

[ | 1 [ | | [ 1 I [ 1

10 1z
5 5 5 A B

b) l | | l | | | | | | I
| I [ | I 1 1 I 1 I I

l | l | | l | ] l | | -6 12

I I I I I I | 1 I 1 I

=1 0 0.5

A= B=

)

" | | | | . | . | | | Complete the calculations.

[ I 1 I | T [ 1 I [ 1

0 20

A+B=

d) A-B=




Add and subtract integers

° Complete the calculations.

a)

b)

‘White

¢) 5.236 + 424,850

d) 30,594 - 15,423

° Colculate the missing numbers. Show your method. O

TG
@ O

?
235 [750] 1,500

b)

) 23,500 +

d)

+ 120,578 = 1,201,079

- 233,233

= 322,322

Match the calculations to the best estimates.

| 8,000,500 - 6,100,000 |

| 1,250,000 + 500,000 |

_ double 600,000 _

_ 123,999 + 84,178 _

Talk about your answers with a partner.

Complete the colculations.

a)

b)

s

+|

0 6

5

8

]

d)




o Four players have scored points in a video game.

Ployer Score
Annie 350,250
Jack 175,900
Mo 99,750
Dora ?

Dora's score is 88,300 less than Jack's.

a) What is Dora's score?

b) What is the difference between the highest score and the

lowest

score?

[ 111

<) What i

s the total of oll the players

° What is the difference between A and B?

200,000

The difference between A and B is

- 1 3 5 7 9110

Use each digit card once to complete the calculation.

Try different combinations of digits to get an answer that is as
close to 500 as possible.

I am thinking of
a number, I add 200,000, then

subtract half a million, then add
a quarter of a million. Then [ round
to the nearest 10, which is
twe million and fifty.

What number could Alex have been thinking of to start with?

Alex could have been thinking of







